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> plot(y, prob, type = "b", lty = 2) > # cbind 000ODOOD

> cbind(y, prob)
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> hist(data, seq(-0.5, 8.5, 0.5)) # 00000000000

> lines(y, prob, type = "b", 1ty = 2) # 000000000000
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oo . R 00000
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e 00D0D0: 000 {w} c.oooo 000 v separated value) format file 0 0 0 O s d
«0J0OO: n0ooo ROODDODODOODODOOOOOO0: vy ox £
°DDDD{J>}} 1000 . 1 6 831 C
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dataframed 000O0O: OOOOOOO
> d$x
[1] 8.31 9.44 9.50 9.07 10.16 8.32 10.61 10.06
[9] 9.93 10.43 10.36 10.15 10.92 8.85 9.42 11.11
...0ooo...
[97] 8.52 10.24 10.86 9.97
> d$y
[11 6 6 61210 4 9 9 911 610 610 11 8
[171 3 8 5 5 411 510 6 6 7 9 310 2 9
...0ooo...
971 6 8 7 9

ROODODOOOOODOOO

> class(d) # d O data.frame OO0

[1] "data.frame"

> class(d$y) # y OO0OOO0O0O integer OO 0O
[1] "integer"

[1] "numeric"

> class(d@$f) # 00O f OO factor OOO
[1]

"factor"
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> class(d$x) # x U0 OODOODOO numeric ODODO
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> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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> summary (d)
y X £
Min. :2.00 Min. : 7.190 C:50
1st Qu.: 6.00 1st Qu.: 9.428 T:50
Median : 8.00 Median :10.155
Mean : 7.83 Mean :10.089
3rd Qu.:10.00 3rd Qu.:10.685
Max. :15.00 Max. :12.400
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ROODOOOOOODO (GLM)OOoOO

oooo oooo GLM OOO0OD
(00) 0O00D0ODO0OO0  rbinom()  glm(family = binomial)
oooo rbinom()  glm(family = binomial)
oooooo rpois() glm(family = poisson)
oooooo robinom() glm.nb() in library (MASS)
(0D0) Ooooo rgamma()  glm(family = gamma)
oooo rnorm() glm(family = gaussian)
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Bo (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
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ngt2016¢ p.6
R GLM oooooOo0oO0o0o0OoO0O0O0ooOoo R GLM oooooo0oO0o0ooO0O0oO0oooon
gln() 00000 gln() 00000000
4 5y — s
EWREWRMT 2TV b 7R
>d . - EIf e
p fit) <-{glm( RS HEDIRE
y X —
1 6 831 C Yy = X
2 6 9.44 C family = poission(link = "log"),
3 6 9.50 C data = d
...00oog... ) .
99 7 10.86 T data. frane g Y ¥ 7 BBOEE (GH)
100 9 9.97 T
e 00D (0DLUDO 2:0000DO0OODOOY
oooao! A ,
> fit <- glm(y ~ x, data = d, family = poisson) *lnk00: 200000 (»)0DD0 DOODOTY
e family: OO OODOOOODO?Y
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T GLM oooooo0ooO0oOoooooooo T GLM oooooo0ooO0oOoooooooo
glm(O) 00000 gln) 000000000
> summary (fit)
> fit <- glm(y ~ x, data = d, family = poisson) Call:
glm(formula = y ~ x, family = poisson, data = d)
all: glm(formula = y ~ x, family = poisson, data = d)
Deviance Residuals:
Coefficients: Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376
(Intercept) x
1.2917 0.0757 .
Coefficients:
) . Estimate Std. Error z value Pr(>|z])
Degrees of Freedom: 99 Total (i.e. Null); 98 Residual (Intercept)  1.2017 0.3637 3.55 0.00038
Null Deviance:""I 89.5 x 0.0757 0.0356  2.13 0.03358
Residual Deviance: 85 ~"IAIC: 475
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> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:

(Intercept) x
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 166>

> lines(xp, exp(1.2917 + 0.0757 x xp)) ]
000000000000000 3.
000000000000 o
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d$x
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x +f 000000

> plot(d$x, d$y, pch = c(21, 19) [d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 100)
> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue",
> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col =

lud = 3) # C
"red", lwd = 3) # T
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Oooo0 +000 cooooOOOoOoO

ngt2016¢ (http
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glm(y ~x + £, ...) 00OO
> summary(glm(y ~ x + f, data = d, family = poisson))
(@
Coefficients:
Estimate Std. Error z value Pr(>|z|)
(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... @moooaa) ...
ngt2016¢ (http 0000000 2016 () 2016-11-15 40 / 66

goooooooooooooooonn
o fi=0C: A = exp(1.26 + 0.0801z;)

o fi=T: \; = exp(1.26 + 0.0801z; — 0.032)
= exp(1.26 + 0.0801z;) x exp(—0.032)

i 0000000 exp(—0.032) O
e 00000000000!

O

[}

0S4

o |ooo
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O000o00o00o0o0oooooon GLM: 0000000 OD0O0OOoooon
(A) 0000000 (B) DODOOOOD
A= exp(Br+ Bz + ) PN 00D0000000000000000 JLJULJLIU;‘,LJULJLUJL%U
o o o 10
©- o ©- o,"
<. | ooo .| ooo i o a jo
B4 o4 < grtae - J
O - > ) > og# o
O ~ it aes I L
O e o0 o [ele] 0Q.-0
SH ooo “looo J_,f—" 5 10 15 20 J 05 1.0 15 20
ol x o x
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5 10 15 2 5 10 15 20
0000 0000 a
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go0o0o0oo0oo0oo0oooooon
BEETILORE
o WEEEAS 6. 00000
EERAZXETIL :
FEE L MCMC
to&EAR
HEETYY . o oooooooooooooog?
ge —RIEBEREETIL
(CLMM) ek
k2 3BT ZE
= Joo00ooooo AIC
EVSEEMR —
EBopun — AR ET I
(GLm)
ERATUHNO RN
HESEDHD .
AVER BEETIL
godo00ooO0opoOooOooOooooooooooooo
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oo0oOo0o0o0O kOO00bOOoO0oboooooo?

(A) 0000000 k=1 (B) 0000000 k=7

o o
¥4 o} s o)
o o) o o)
N o 00 O N o 00 O
- oo oo o oo 00O
=24 @O O @D o == @O O O o
O o o@mmo o o owmo o
[ o 0.0 I« yele's o Me) o 0,00~ @000
= 0 o 0 o o
- O CumP» O 00 O 0O © 0O Cup o@D 0O O OO0
o 00 oa® o 00 00
~- o @ o ~ o @ o
o o o o o o
o o] - o]
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7 8 9 10 11 12 7 8 9 10 11 12
o000 = oooo0 «

“Oogogbor»obbogrzek0bbooOogr
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goooooooooooooooonn

e JOODO: 00O {y}
e 0OOO:

e 0DDODO {z;}

« 0000 {f;}

ooo
e 00O (f; =C): 50 sample (i € {1,2,---50})

e JODODO (fi=T): 50 sample (i € {51,52,---100})
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L
gbodoooooooooa

goboogooood
.0000:000b0000

-00000: B+ Boxi + Bsfi - 7
.00000: 0000000 4T

/goo . g1/aFLLHZ)

0000000 2016 (c) 2016-11-15 49 / 66

L
40000000000: (B) £ model

Ai = exp(B1 + B3fi)

0000000 oooooO (loglikelihood) DO O OO

> logLik(glm(y ~ f, data = d, family = poisson))
'log Lik.’ -237.63 (df=2)

0000000 2016 (c) 2016-11-15 51 / 66

.
40000000000: (D) x + £ model

Ai = exp(B1 + Pox; + B3 fi)

L

0000000000000 (loglikelihood) 0O O OO

> logLik(glm(y ~ x + f, data = d, family = poisson))
’log Lik.’ -235.29 (df=3)

0000000 2016 (c) 2016-11-15 53 / 66

| coocc [EREEEEEEEEEEEEEE
40000000000: (A) constant A

Ai = exp(f1)

0000000000000 (log likelihood) DO OO DO

> logLik(glm(y ~ 1, data = d, family = poisson))
’log Lik.’ -237.64 (df=1)

/goo . g1/aFLLHZ)

0000000 2016 (c) 2016-11-15

50 / 66

L
40000000000: (C) x model

i = exp(fi + Poxi)

L

0000000 oooooO (loglikelihood) 0O O OO

> logLik(glm(y ~ x, data = d, family = poisson))
'log Lik.’ -235.39 (df=2)

0000000 2016 (c) 2016-11-15 52 / 66

.

gobbooobbooboboobbodobo

(A) constant A0 k =10

(B) £ modell k =20

-237.6 "1-237.6
N .| Control
(C) x modell k = 20 (D) x + £ modell k = 30
" -235.4 *1-235.3
ol .| Contro

| S — S R A N—)
9 10 1 12 7 8 9 10 1 1
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AIC 00000000: deviance

7. AICO0000000O0

00000000 : deviance

0O0ooOoooao: AIC

0oOooO00 2016 () 2016-11-15 55 / 66
AIC 00000000: deviance
deviance D = —2 x log L*
e Maximum log likelihood log L*: goodness of fit
e Deviance D = —2log L*: badness of fit
. log L* Deviance Residual
of )
model g —2log L* deviance
constant A 1 -237.6 475.3 89.5
£ 2 -237.6 475.3 89.5
b 2 -235.4 470.8 85.0
x + f 3 -235.3 470.6 84.8
saturation 100 -192.9 385.8 0.0
0000000 2016 () 2016-11-15 57 / 66
AIC 00000000: deviance
Oo0o000d: AIC = —2log L* + 2k
AlICOU0O0O0OU0OOOOOD
Deviance Residual
: log L*
model k o8 —2log L* deviance AlC
constant A 1 -237.6 475.3 89.5 477.3
£ 2 -237.6 475.3 89.5 479.3
b < 2 -235.4 470.8 85.0 474.8
x + f 3 -235.3 470.6 84.8 476.6
saturation 100 -192.9 385.8 0.0 585.8
AIC: A (or Akaike) information criterion
0000000 2016 (c) 2016-11-15 59 / 66

AIC 00000000: deviance

RO glm() O deviance OO0

> glm(y ~ x + f, data = d, family = poisson)

Call: glm(formula =y ~ x + f, family = poisson, data =
Coefficients:

(Intercept) x £T
1.2631 0.0801 -0.0320
Degrees of Freedom: 99 Total (i.e. Null); 97 Residual
89.5
84.8

Null Deviance:

Residual Deviance: AIC: 477

Residual Deviance? Null Deviance? AIC?

ttp FLLHZ) 0000000 2016 (c) 2016-11-15

d

56 / 66

AIC 00000000: deviance

Null deviance, Residual deviance, ...

constant A
x model

Max deviance475.3
470.8 |-

Deviance
—2log L*
(badness of fit)

(eoueIneQ |INN) 568
(eoueineQ [enpisey) 0°G8

saturation model

Min deviance 385.8

2016-11-15
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AIC 00000000: deviance

ooooooooobooooooz?

ooooooo

00000 constant A
0000000000 adzba f=2040000000
0oooooo g 8

/1=2080000000

T T
10 15

:-Q'. oooooooo
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AIC 00000000: deviance AIC 00000000: deviance
dodoboOdoOooooooooooooooo? goddb:. oobobooooooooobooa
goooooo
DDDDD[DV 00000 constant A
£, 00000 constant A 0ooooooooo csda%Q £ =2040000000
d % /=2040000000 ooooooo 3 %
4 g
s % B =2080000000 A
T T T T 0 5 10 15
0 510 15 Ylomeeoooo
0000000000000 f"\. EDDEEDDEED
oooooooooog & - E(log L) 0DO0D
0oooooooo A O
log L* 00000 0 5 1015 {1y
ao: Mﬂm Ai
goooo
T T T T T T \M T T T T
ooooooooo 0 5 10 15 0 5 10 15 0 5 10 15
T T T T
0 5 10 15 0D0oooOooooDooo (200000)
y
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AIC 00000000: deviance AIC 00000000: deviance
dodddddoooooooooooo doodoooooooooao
gopopoooooooood
A) DOO0OO0ODOOoD B) (A)DooOoooooo Cc)uoooooo
97( ) 97( -)( ) 97( ) oooo
v o v gooooooo
6 & I i .....
3 I ‘ if
g i o] 109N e,
] 1 . Ii
E s |
T T T T T :7\ T T T T T
200 205 210 215 220 195 200 205 210 215 220 T T T
6100 B, 00 goooooog 1 2 2
0000000 2016 (c) 2016-11-15 63 / 66 0000000 2016 (c) 2016-11-15 64 / 66
AIC 00000000: deviance AIC 00000000: deviance
(FAQ: frequently asked questions; 00 0000) |:| |:| |:| |:| |:| |:|
http://hosho.ees.hokudai.ac. jp/~kubo/ce/FagModelSelection.html |:| D D |:| |:| D |:| |:| D <GLM>
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gbodooboooooooooooon
oooooooo ‘AICDDDDDDDD
oooooooooog
4
goooooooooooooooooon
(Doooooooo) v (Doooooooooo)
oooo
00000ooooooooooooooono oo oooo
4 I
0o00oooooooooOo ooooooo Arcoon
4 I
Oooooobooooono goooooooooa
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p.2

T S

IRETEMIIIARE  (Neyman-Pearson framework)

statistical

test &?ﬁ %ﬂ
Null Alternative
hypothesis hypothesis
IR AR ER SR ER
glm(y ~ 1) glm(y ~ x)

EE ! %z
FRUCOL !

0000000 2016 (d) 2016-11-15 7/ 66

T

IRETEMIIIARE  (Neyman-Pearson framework)
statistical
test fﬁﬁ %ﬂ
Null Alternative
hypothesis hypothesis
IR (R ER IR ER
glm(y ~ 1) glm(y ~ x)
test!l
Gf ...) NOT resect Say
rejec .
: Nothing!?

0oo00000 2016 (d) 2016-11-15 9 /66

opooooooooo

00000 AD,

difference in deviance ADy o = D; — Dy = 4.51 = 4.5

likelihood ratio? — log % =log L} —log L}
2

k los L* Deviance
model v 2 —9log L* ]
constant A 1 -237.6 D, =473 0000 '@EEW\
x 2 2354 D, =4708 000D g[ﬂ

ooooooo:-o0o0o0o000o0o0o0oo
...... goboO0oO0ooOo0O0OoOOO0OO0O0o00n

ngt2016d (http://goo.gl/aFLLHZ) 0000000 2016 (d) 2016-11-15 11 / 66

T S

IRETEMIIIARE  (Neyman-Pearson framework)
statistical

test m %ﬁ

(

Null Alternative
hypothesis hypothesis
IRERIR S IR
glm(y ~ 1) glm(y ~ x)
test!l
Gf .. .
reject ZEH] support 373
0000000 2016 (d) 2016-11-15 8 /66
goooooooog
gooooa
D: deviance
AAD <
°®® =< -
oo g ooo y o x model
2 Dy = 470.8
% ® constant \
oodd z =< D, = 475.3
E - [ [
' @ N7 8 9 10 1 12
body size x;
(0oooooo
0o000000 2016 (d) 2016-11-15 10 / 66
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ooooD: ooooeonono

000000000 AD12=450....

. oogpp boOo0ooooo 0oooooo
(0ooooon) (0ooooo)

ooooooon 0oooooo (0ooo)

oooooooon (oooo) oooooo

significant

ot

not significant

' m is ...

(Reject ) (Not reject @418 )
TRUE Type I error (no problem)
NOT true (no problem) Type II error

gooooboo:-000000o0ooo
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gooooooooo

AD,, 0000O0O0O: O0OOO0DOOOOOOOOO
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nooo@W oppoooooooooo!

gooooooooooo
gooooooooon

(=2060000000)

ADlz ADlQ ADlz

T T '
78910 12 l‘_’n;‘, 5
a8
0000000000000 @
000000000000 8% g ‘
7eom | 7edw 2 7hol 1

gl/aFLLHZ)

ngt2016d (http://goo.

0000000 2016 (d) 2016-11-15

0000000 constant A 0 x model
gooooooooo AD,, O0OOOODO

g0oooooOooooooobooOo00ooon

14 / 66

How to generate AD;; under © “\ is TRUE?

> d$y.rnd <- rpois(100, lambda = mean(d$y))

> fitl <- glm(y.rnd ~ 1, data = d, family = poisson)

> fit2 <- glm(y.rnd ~ x, data = d, family = poisson)

> fiti$deviance - fit2$deviance

e rpoisO) 000D0ODOODODOD (D0ODO)
« 000000000 glmO 0000

ngt2016d (nttp://goo.

gl/aFLLHZ) 0o000000 2016 (d) 2016-11-15
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Ogod0ooboooooooon

0000 5% 00?7 —(0) %’ 00 00000000000

oooooooooo

NOT

_ significant «
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Q7 — significant (5%)
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e 381<AD;, 00000000
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87 oooodMoooooo
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ngt2016d p.4
A random AD;, generator in R Generated distribution of AD;s = D; — Dy
8 -
get.dd <- function(d) # 000000000 0O0DOODO ma ooooooooo
{ =1 — ADl 2 = 4.5
n.sample <- nrow(d) # 0000 ol ’
y.mean <- mean(d$y) # 000D _ AD,, 0000 (95%) 00000
d$y.rnd <- rpois(n.sample, lambda = y.mean) 3 |
fitl <- glm(y.rnd ~ 1, data = d, family = poisson) &
fit2 <- glm(y.rnd ~ x, data = d, family = poisson) 7
. . — s s o 0|
) fiti$deviance - fit2$deviance # OO0 D OO OOD 8- 0ooo WD ooooo
pb <- function(d, n.bootstrap) °” T T T 1
t 0 5 10 15
replicate(n.bootstrap, get.dd(d)) constant A0 x model 000000 AD;»
¥ (R code is in the next page)
ngt2016d (http://goo.gl/aFLLHZ) 0000000 2016 (d) 2016-11-15 19 / 66 ngt2016d (http://goo.gl/aFLLHZ) 0000000 2016 (d) 2016-11-15 20 / 66
s EY 332 _ 0o P
Probability{AD:, > 4.5} = 55 = 0.0332 DoooooD cooo@Mponoooo
So we can state that 0000 = can be accepted.
> source("pb.R") # reading "pb.R" text file
x model is better than constant \.
> dd12 <- pb(d, n.bootstrap = 10000) D: deviance
> hist(dd12, 100) # to plot histogram ol
) o
> abline(v = 4.5, 1ty = 2) oo i ooo y > x model
4 f—
> sum(dd12 >= 4.5) @ Dy = 470.8
£ constant A
[1] 332 oood oz =2 D, = 475.3
E
so-called “P-value” is 0.0332. r R T T A
body size x;
ngt2016d (http:/ 0oo00000 2016 (d) 2016-11-15 21 /66 ngt2016d (http://goo.gl/aFLLHZ) 0o000000 2016 (d) 2016-11-15 22 /66
In case that P > 0.05 ...7 goooooooono
0000000 o0noooooooooooon
0o
ooooooog ...
.O00000oobonooooooooa
N OODOLOO00000000 «p=0010 p=00001 00000000000
oo
p 000 dooonouog pdoogog
ooooooo: oooo@W opooooooooo .
<0000 p<0.0500000000O0 p hacking O
ogooooon —p=004000000000
goooood
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go0o000oooOoobooonoon
BEETTILORE
" . I WEEEAE
PR~ ZET MCMC
HoEEHER
HEETU ~ —
ga . ——RILIRAETIL
(CLMM) ek
Bk = BE
EWSREER —
B —RAEHETIL
(GLM)
Eiﬁéﬁﬁl&(%& =N FEE
BERNHED —
AU ? :%7?%33&7‘}'/
0000000000000000000000000
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gooooooOooog
O0O00O0oo0oDg (GLM)
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.0onooo?
ooooooo 2016 (d) 2016-11-15 29 / 66

aFLLHZ)
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dbddoobooooooooooooobooan

http://goo.gl/Ufq2
0oooooono 60 GLMOOO P
gooooooooogooooo
F— IR DIz D
Qoo #aEtE T YT AN

—RILATT TN - <4 KT - MCMC

e JO: 0000

e JOO: 0000 S

e 2012-05-18 O O

san
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T
dddddooooooooa?

00000000 (GLM)

000000000 (logistic
regression)

aFLLHZ) 0o000000 2016 (d) 2016-11-15

ngt2016d (http://goo.gl

28 / 66

.

GLM OOOOCOOOOOOOoOoOooOooOoooOOoO

goooooogod
LO0000: 0000on
.00000: eg., B+ Box;
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gooodoooododd
O0000:000Ond

LO00000: eg., B+ Box;
.O00000: logitdOoOn

GLM OOOODOOO logistic0O0O0O0O0O0O0ODOO

ooooo vy

T
0 1

9
oooooo0 =z

ngt2016d (http://goo.gl/aFLLHZ) 0000000 2016 (d) 2016-11-15 31 /66
oooooooo? ... goooooo
0000000 yOO OODUO OoOoo! ... goooon
B0 gppgpo N =3
[ JeX Yol
0e00
00000 ¥ =3
0000 (alive) O
0000 (dead) O o
oooo g
ngt2016d (http: 00.gl/aFLLHZ) 0oo00000 2016 (d) 2016-11-15 33 / 66
data frame d 00O 0O
> summary (d)
N y X £
Min. :8  Min. :0.00 Min. : 7.660 C:50
1st Qu.:8 1st Qu.:3.00 1st Qu.: 9.338 T:50
Median :8 Median :6.00 Median : 9.965
Mean :8 Mean :5.08 Mean : 9.967
3rd Qu.:8 3rd Qu.:8.00 3rd Qu.:10.770
Max. :8 Max. :8.00 Max. :12.440
ngt2016d (http: 0000000 2016 (d) 2016-11-15 35 / 66
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(http:/

| ~oooowoooooorcoooooo EEEEEEEREERE
oooooooooooo R

datada.csv J CSV (comma separated value) format file 0 0O OR O
goooooooooooon:

> d <- read.csv("datada.csv")

or

> d <- read.csv(
+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2015/Fig/binomial/datada.csv")

000040000000 data frame (0DO0O00O00OO
00)oooooo
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(http:

| woooosoooooce ooocooc JEEEEEEEEEEEE
gobboooboobboad

> plot(d$x, d$y, pch = c(21, 19) [d$£f])

> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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4. 000000000OOO

0000 binomial distribution O logit link function
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_ 0000 binomial distribution O logit link function
gbodooooooooooobooan

0000000000000 (2: 000000e.g. 2z = fi + foxi)
1
; = logistic(z;) = ——————
¢ = logistic(2;) T+ oxp(—2)
> logistic <- function(z) 1 /
> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type =

(1 +exp(-2z)) # 00000

D)

0o q
00 02 04 06 08 10
a

ngt2016d (htt
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0000 binomial distribution [ logit link function

logit link function

o logistic 0 O
1

= = logistic(8 Box
=7 + exp(—(B1 + faz)) ogistic(fh + fzx)

o logit 00O
logit(q) = log % = 061+ Pax
—q

logit O logistic 0 O 0O O O logistic O logit 00 00O

logit is the inverse function of logistic function, vice versa
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_ 0000 binomial distribution O logit link function
Ogbooooooooooo

00000 {B1,6}={0,2}0(A) ,=200000 8, 000000000
(B)$,=000000 8, 000000000
_(A) B,=2000 _(B) s =0000
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_ D000 binomial distribution O logit link function
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> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

Coefficients:
(Intercept) x £T
-19.536 1.952 2.022
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RO data.frame: 00 Area, OO0 x, 000 y

> load("d2.RData")

> head(d, 8) # 00O 8 0000

Area xy

1 0.017249 0.5 0

2 1.217732 0.3 1

3 0.208422 0.4 0

4 2.256265 0.1 0

5 0.794061 0.7 1

6 0.396763 0.1 1

7 1.428059 0.6 1

8 0.791420 0.3 1
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> plot(d$x, d$y / d$Area)
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> plot(d$Area, d$y) > plot(d$Area, d$y, cex = d$x * 2)
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d$SArea
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e offset 00 0U0O : log(Area) S S Yy ~ X,
dSArea = . . .
. ( | family = poission(link = "log")
o JODOOO z=p+ x + log(Area
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' offset = log(Area)
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> fit <- glm(y ~ x, family = poisson(link = "log"), data = d, O
offset = log(Area)) a4
> print (summary (fit)) x=0.9
light environment
Call:
glm(formula = y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area)) z=0.1
dark environment
C..O0..0
R ) 0.0 1.0 2.0 3.0
Coefficients: d$Area
Estimate Std. Error z value Pr(>|z|)
(Intercept) 0.321 0.160 2.01 0.044 e 00 gin(O)0O00DDODOOOODDOD
b d 1.090 0.227 4.80 1.6e-06 e I00DDDOOODDOOOOD
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3. Softwares for MCMC sampling
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0 0: Gibbs sampling (coooooooooo 90)
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step iR
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«JAGS —0O0O0O0ODODODODODOO OSOOOO

.Stan — O OOOOOO
-~ 0000000000

e [0 0 0O: nttp://hosho.ees.hokudai.ac.jp/~kubo/ce/BayesianMcmc . html

ooo BpuGsooooaor?

0000000 2016 (e) 2016-11-15

oo0ooOooo0oOo BUuGSOOoOoooooo

F—4% Y[i]
BFHBEDIEDEEFE

for (i in 1:N.sample)
Y[i] ~ dbin(q, 8)
¥

R
A\ q ~ dunif(0.0, 1.0)
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alter et al. 1995.

BUGS: Bayesian Using Gibbs Sampling version 0.50.
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ROO JAGS 0O0O0O0O0O0O0O0D0D00000 (1/3)

library(rjags)
library (R2WinBUGS) # to use write.model()

model.bugs <- function()
{

for (i in 1:N.data) {

Y[i] " dbin(q, 8) # 000000000

}

q ~ dunif(0.0, 1.0) # q ODODOOOOODODO
}
file.model <- "model.bug.txt"
write.model (model.bugs, file.model) # 000000
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ROO JAGS 0O0O0O0O0O0O0O0D0DO000 (3/3)

# burn-in
update(model, n.burnin) # burn in

# 000000000 post.memec.list OO0
post.mcmc.list <- coda.samples(

model,
variable.names =

model =
names (inits),

n.iter = n.iter,
thin = n.thin

)

# 00O

ROO JAGS 0O0O0O0O0O0O0O0D0D00000 (2/3)

load("mcmc.RData") # (data.RData U OO mcmc.RData!!)
list.data <- list(Y = data, N.data = length(data))
inits <- list(q = 0.5)

n.burnin <- 1000

n.chain <- 3

n.thin <- 1

n.iter <- n.thin * 1000

model <- jags.model(
file =
inits =

file.model, data =
inits, n.chain =

list.data,
n.chain
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e gelman.diag(post.mcmc.list) — I
e R-hat U Gelman-Rubin 000000000
vart (1ly)

w 1 1
o vart(¢ly) = "W + ~B

n n

oW :0ODOOODOOO variance 00O 0O
o B:00OOODOOO variance
0 Gelman et al. 2004. Bayesian Data Analysis. Chapman & Hall/CRC
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es for MCMC sampling “Gibbs sampling” 000000000000......

Gibbs sampling — 0000000

e plot(post.mcmc.list)

Trace of q Density of q
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> d <- read.csv("dl.csv")
> head(d) e id0: 0000
id pot £ y {1,2,3,---,100}
11 AC 6 epotJ: 0000 {A,B,C,
2 2 AC 3 S J)
3 3 ACI9 ef0:00:000000C,
44 AC S5 oo T
5 5 AC O
ey0:000 (DODD)
6 6 AC 19
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GLM: OO00O0OO0OO0ODOOOOOO
(DoobO)ooboooboboboooboooboo
ogoooooono > summary(glm(y ~ f, data = d, family = poisson))
BEETIORR @
) M S .. .
ngg&,fzfag’\% MeMC Coefficients:
toramn Estimate Std. Error z value Pr(>|zl)
SaT SRR A T (Intercept)  1.8931 0.0549 34.49 < 2e-16
CLMM) - moseen
- B fT -0.4115 0.0869 -4.73 2.2e-06
EVSERMR BB ETI
EHOHLIL RIZC TS (O)...
ERABUAND RNZFE
HEATEDD pemeo
ALY wRZET IV
pure "y TT « 0000000 (f) 000000000000 O00?
e AICOOUOOODOOODODOODOODO
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GLMM: 000000000 OOOODOOO o0 +000b0bOoobobooobooboobo
> library(glmmML)
> summary (glmmML(y ~ f, data = d, family = poisson, « 0000 log00000000
+ cluster = id))
o) e 00000 log(\) =a+bf+ (000)+(0O00D0D)
coef se(coef) z Pr(>lzl) s bonoond
e 00«0 f000 600000000 (LI 10)
(Intercept) 1.351 0.192 7.05 1.8e-12
e JO0OOOODOOOOOOOODOOO (1 o1, 02
fT -0.737 0.280 -2.63 8.4e-03 |
@) « 0000 +,00000000 (0,104 !
e JOODOO?
e JO00UDOOUDOUDODLDO?
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;‘4 BUGSEEE Trace of beta[1] _Density of beta[1]
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. PEESERID = i o= g5 TS i o e
sEhsE 7 A SILIBKED | sl2lmksze | /IAI— 7 g
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000 +000000000000000 BUGS code (1)

model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdalil)
log(lambdal[i]) <- a + b * F[i] + r[i] + rp[Pot[il]
}
# 00000000000D0DOO00OOD

e JO0ODDDOOO fe{c,T}000DDOOFIiJD 0, 10000
oo

e Pot[i]l O 1, 2, ., lo0000000000OCODOOO0OOO
0ooo0ooooo rpl...] 0OO00O0O0OD
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000 +000000000000000 BUGS code (2)

# 00000000000

a ~ dnorm(0, 1.0E-4) # OO

b ~ dnorm(0, 1.0E-4) # 00O OO0

for (i in 1:N.sample) {
r[i] ~ dnorm(0, taul1])

}

for (j in 1:N.pot) {
rp[j] ~ dnorm(0, taul2]) # OO0OO0OO (DOOO0O)

}

for (k in 1:N.tau) {
taulk] <- 1.0 / (sigmalk] * sigmalk]) # 00000000000
sigmal[k] = dunif(0, 1.0E+4)

# 000

}
}
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mean sd 2.5% 257 507% 75%  97.5% Rh
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigma[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
(@)
0000000o0o00ooO0oUoooOoOoooDooo
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Oo00 +0000 GLMM 1
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gooooooon

7, oooooo
logitqi = B + /3 X (GLNI)
o Q;Z"Q L

¢qi: 0000000

o .

(8)00000000000000
oo oo ooooboooao

° " poooooooooo
logitg: = f + B + 1

00oooooo (A)(B)ooooooooooooooooo
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e local parameter 00000 (eg. 000 +000)00000O0OO
0 - 00000000 (Hierarchical Bayesian Model) OO0 00O

(posterior) O O!
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package L\BUL\B3H B
Llibrary(dlm)
Library(KFAS)
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model
{
Tau.Noninformative <- 0.0001
Y[1] ~ dnorm(y[l], tau[2])
y[1l] ~ dnorm(0, Tau.Noninformative)
for (t in 2:N.Y) {
Y[t] ~ dnorm(y[t], tau[2])
y[t] ~ dnorm(m[t], tau[l])
m[t] <- delta + y[t - 1]
}
delta ~ dnorm(0, Tau.Noninformative)
for (k in 1:2) {
tau[k] <- 1 / (s[k] * s[k])
s[k] ~ dunif(0, 10000)
}
} 2016-11-17 ngt2016f 41/80
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fE0HZT, ERMOR] DERIE
> summary(glm(GL ~ year, data = d))

Coefficients:
Estimate Std. Error t value Pr(>|t])

BEfRd TIEsH (6LM) MFRIL T NER1L
> summary(glm(GL ~ year, data = d))

Coefficients:
Estimate Std. Error t value Pr(>|t])

(Intercept) -1.41le+01 6.21le-01 -22.6 <2e-16 (Intercept) -1.41le+01 6.21le-01 -22.6 <2e-16
year .7.03e-03 3.18e-04 22.1 <2e-16 year . 7.03e-03 3.18e-04 22.1 <2e-16
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KEETEREETIL : IRTERFICHTE

Y[1] ~ dnorm(y[1l], taul2])
v[1] ~ dnorm (0.0, Tau.Noninformative)
for (t in 2:N.Y) {

KEZEETILAFRILZ DERE]

> summary(glm(GL ~ year, data = d))

Y[t] ~ dnorm(y[t], taul2]) Coefficients:
y[t] ~ dnorm(m[t], taulll) Estimate Std. Error t value Pr(>|t])
mft] <- delta + y[t - 1] (Intercept) -1.4le+01 6.21e-01 -22.6 <2e-16
} , , year .7.03e-03  3.18e-04 22.1 <2e-16
delta ~ dnorm(0, Tau.Noninformative) ’
for (k in 1:2) { ) =
taulk] <- 1.0 / (s[k] * s[k]) e S I —
s[k] ~ dunif (0, 1.0E+4) ' REZRET L GLM
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ge(x, y
)
consale
> plot(ts(x), col = "blue", ylim = range(x, y)) AN
A)J
> Tines(ts(y), col = "red") v
> print(sui y(gl (y ))s efficients)
ot v 1

Pr(>|t|)

(! ntercept) l 67120 0 90288 -1.8510 6.7186e-02

0.64551 0.10803 5.9753 3.7127e-08
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Bivariate case
In the 2-dimensional nonsingular case (k = rank(I) = 2), the probability density function of a vector
[x y]" is:

Xt+1 ~N (Xt7 Sw) o) = — ( - [ z— ﬂx)”_'_('y;gyﬁ _20(2—:;3£y—w)])
— where p is the correlation between X and Y and where o 0 and o 0. In this case,
T

— B o o )
Al & DL STENDV? T Smrama HEIR o
https://en.wikipedia.org/wiki/Multivariate_normal_distribution
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In the 2-dimensional nonsingular case (k = rank(I) = 2), the probability density function of a vector

Xyl is:

Bivariate case

fay) = U ot [ o)’ 2e( im0 )
’ 2noxoy /1 — p? 2(1—p?) 0'3( cr%. oxoy

where p is the correlation between X and Y and where ox > 0 and oy > 0. In this case,

s () = (ke "5) NEEBAEER p
PRI EETSI

https://en.wikipedia.org/wiki/Multivariate_normal_distribution
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ROOO (rl) 2016-10-07

U000 kubo@ees.hokudai.ac.jp

00000 web page: http://goo.gl/aFLLHZ

00000000 ROODODOOOOO0O0O0O0O freesoftware (0000000000000 ODOO
O00000)0DO0O00O0 RODOOOODUOUOODODODDOODOOOOOO
ROODOOOOOOOOOOOOobDOoOobooboobonD:

1.

2.

d.

6.

00000000 (0000000 data.frame 000)

O00000000000000000O (Dobooooogoogn)

OooooOoooooooddoo

gbobuoooobbobuoooobon

O0000o0ooooooooooddoo

gbbooogbobbuooobbbooogn

gobobboobobbbbbouoooogooobbbbboobooooooooooobboob
DOO0obOODobOobDbOobDbOg websiteDOODODOODODO0ODOOODLDOODOODOODOODO
goo

1 RUOOODODOOODOOOMO

1.1

0o id data.frame DO OO OOOOOON

> d <- read.csv("data.csv")

> d

treatment size seed

control
trtX
control
trtX
control
trtX
control
trtX
control
trtX
control
trtX

21.
24.
12.
16.
21.
20.
22.
23.
19.
26.
20.
27.

w

W = 01 00 NN 00—~ O N

9
19
1
4
13
6

22

31



13 control 22.5 14
14 trtX 21.8 19
15 control 18.6 4
16 trtX 25.3 26
17 control 23.5 11
18 trtX 19.7 6
19 control 27.9 22
20 trtX 22.0 17

>head(d) # OO0 6 0O0OO0O0O0OO
treatment size seed

1 control 21.3 9
2 trtX 24.2 19
3 control 12.0 1
4 trtX 16.1 4
5 control 21.8 13
6 trtX 20.2 6

\

head(d, 3) # OO0 3 0000000
treatment size seed
1 control 21.3 9
trtX 24.2 19
3 control 12.0 1

N

> tail(d, 3) # OO0 3 0000000
treatment size seed

18 trtX 19.7 6
19 control 27.9 22
20 trtX 22.0 17

> edit(d) # d ODOO0ODO

1.2 data.frame UUOUOOOOOOOO

>d[1:3,] # 1 0000 30000000
treatment size seed

1 control 21.3 9

2 trtX 24.2 19

3 control 12.0 1

> dlc(1, 3, 5),] #1, 3, 5 0000O000OO
treatment size seed



1 control 21.3 9
3 control 12.0 1
5 control 21.8 13

>d[, 11 #1 0000000
[1] control trtX control trtX control trtX ... O
Levels: control trtX

> d[4:6, 2:3] # 4-6 UU0O 2-3 0000000

size seed
4 16.1 4
5 21.8 13
6 20.2 6

# 0000000 300000 (Coooo)
>d[, 31 #3 0000000
(11 919 1 413 6 8 8 722 3311419 426 11 6 22 17

> d$seed # UUOODODODOOOOODODO
[1] 919 1 413 6 8 8 722 3311419 426 11 6 22 17

> d[, "seed"] # O0OOOO
[1] 919 1 413 6 8 8 722 3311419 426 11 6 22 17

1.3 data.frame U0 UO0O0OOOOOOOOO
treatment 0 trtX OO OO

> d[d$treatment == "trtX",]
treatment size seed

2 trtX 24.2 19
4 trtX 16.1 4
6 trtX 20.2 6
8 trtX 23.8 8
10 trtX 26.4 22
12 trtX 27.3 31
14 trtX 21.8 19
16 trtX 256.3 26
18 trtX 19.7 6
20 trtX 22.0 17

size U 25,0 000000000

> d[d$size > 25.0,]



treatment size seed

10 trtX 26.4 22
12 trtX 27.3 31
16 trtX 26.3 26

19 control 27.9 22
seed ] 60 O00O0OOOOO

> d[d$seed <= 6,]
3 control 12.0
4 trtX 16.1
11 control 20.1
15 control 18.6

[ENCVENF S

seed U 600000 2000

> d[d$seed <= 6 & d$seed > 2,]

seed U 6 0000OUO0O0O 200

> d[d$seed > 6 | d$seed <= 2,]

1.4 data.frame U O OOOOO

> d <- dlorder(d$size),] # d$size DO O OOOODOOODO
> d <- dl[rev(order(d$size)),] # d$size DO OO OODOODOODO

2 ROOO

ROOOOO (plotO) OOOOOOO)
e 10000 D0O0ODODDODDUODDOODOUODOODOODO
e plot() DO ODOOODOO
e points(), lines(), legend() U U D UOODOOODOOODOO

e par(new = TRUE) 0000000000000 00 (00000000000000O0O00O0
0o)



2.1 data.frame U QO UOUOOOONO

> d <- read.csv("rl.csv")
> plot(d$size, d$seed)

d$size
pch 00000 DO0OOOO0O

> plot(d$size, d$seed, pch = 19)

d$size

colUJUOODOOOOODO

> plot(d$size, d$seed, pch = 19, col = c("blue", "red") [d$treatment])

25 30

2|0

d$seed
15

dssize
legend() OODOOOOOO



# UUOOO legend UUU
> legend("topleft", legend = levels(d$treatment), pch = 19, col = c("blue", "red"))

~| ¢ control
e trtx R

d$size

22 JOobooboooooon

obooboobod

> plot(d$size, d$seed, type = "n") # U O OOO

I l I
15 20 25

d$size
OO0 control OOOOOOOO

> dC <- d[d$treatment == "control",] # treatment 0 control JODOOODO
> dC <- dClorder(dC$size),] # size DO O O0OO0OO
> lines(dC$size, dC$seed, pch = 21, col = "blue") # UUOOD
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15 20 25
d$size

0000 trtXxO0O0O0Oooooooboooogn

> dX <- d[d$treatment == "trtX",] # treatment 0 trtX 0O 0000
> dX <- dX[order(dX$size),] # size DO 0O O0OO0OO
> lines(dX$size, dX$seed, pch = 21, col = "red") # DO OO
> legend("topleft", legend = levels(d$treatment),
pch = c(21, 19), col = c("blue", "red"), lwd = 1)
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3 Oooobobogo
e pdf ), jpg), png() 0000 deviee 0000000000000 0O0OOO0O

e ROOOODODODODOOOlibrary(lattice) O library(ggplot2) OO DOOOOOOOOO
gooooog

— library(lattice) DO OODOODOODOODOODODO:

> d <- dlorder(d$size),] # size JOOOOOOOOOO
> print(xyplot(seed ™ size | treatment, data = d, type = "b"))

15 20 25
| | | | | |

control trtXx
30 —
25 —
20 I~
15 —
10 —
5 - L
0 - L

seed

15 20 25

size



